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g | @ |OLLGC6 OLC6+pvb +6 14 0.42
7 OL LGC8 OLC8+pvb +8 11 0.39
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j W& ERS E E [5~10+Air+ 3 5 5|18 0.45

DPS 1510
N2 H B 6] [S~10+Air+ B % 323 0.27
S EBEDPAS |5 E 8£45~10
EE e |DC5 C3+AIT+5 T0 0.64
75 |DC6 CE+AIr+6 9 0.60
= DC8 C8+AIr+3 8 0.55
5 DC10 C10+Air+10 7 0.50
A
i PP INES G5+AIr5 I3 0.50
i % |pGe G6+Air+6 12 0.47
j22d DGS G8+AIr+3 11 0.41
= DGO G10+Air+10 10 0.36
7 e |DBY B3+AIr5 9 0.52
@ & |DBS B6+AIr+6 8 0.48
- DBS B8+Air+8 7 0.41
=< DB10 B10+Air+10 7 0.36
DAS AS+AIHS 8 051
B K pag AB+AIr+6 7 0.47
oo B |pag A8+AIr+8 6 0.40
- DA10 A10+Air+10 5 0.36
e | & |OLDRSS ORS5+AI+5 ) 041
= | @ |OLDRSG6 ORS6+AIr+6 41 0.40
58 |OLDRS 8 ORS8+AIr+8 38 0.39
;% OLDRS10 ORSI10+Air+10  [36 0.38
. [Z& [OLDRCS ORC3+AIr+5 T4 0.37
% | & |OLDRC6 ORC6+Air+6 12 0.32
3 OLDRC 8 ORC8+Air+3 10 0.30
e OLDRC10 ORCI0+AIr+10 |9 0.28
S 2% |OLDRG 5 ORG5+AIr+5 ) 031
c ta  |OLDRG 6 ORG6+AIr+6 38 0.28
d OLDRG 8 ORG8+AIr+8 32 0.25
= OLDRGI10 ORGL0+AIr+10 |26 0.23
o
= ¥ |OLDRBS5 ORB3+AI+5 W) 0.32
2 t6 |OLDRB 6 ORB6+Air+6 20 0.29
o OLDRB 8 ORB8+Air+3 18 0.25
2 OLDRBI10 ORBI0+AIr+10 |16 0.23
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R21.5 BEEZASTESR 1 H (BENEE > &)

o™ fE M R mm o] B HR (%) [ ni
” % |FLDRS 5 FRS5+AIr+5 37 0.13
e BY |FLDRS 6 FRS6+Air+6 37 0.18
& #R  |FLDRS 8 FRS8+Air+8 36 0.18
o FLDRS10 FRS10+Air+10 |36 0.18
& 7% |FLDRCS FRCS+AIT+5 18 0.13
& 2 [FLDRC6 FRC6+Air+6 18 0.18
3y FLDRCS FRC8+AIr+8 18 0.17
22 FLDRCI10 FRC10+Air+10 |18 0.17
Z%  |FLDRGS FRG5+AI+5 283 0.1%

& |FLDRG6 FRG6+AIr+6 28 0.18
FLDRGS FRG8+Air+38 28 0.17

FLDRGI10 FRG10+Air+10 |28 0.17

¥ |FLDRBS FRBS+AIr+5 17 0.1%

= [FLDRB6 FRB6+Air+6 17 0.18
FLDRBS FRBS8+AIr+8 17 0.17

FLDRBI10 FRB10+Air+10 |17 0.17

T 7% |OLEDP6 OLEG6+AI+6 2 0.53
‘i BY |OLEPS8 OLE8+Air+8 12 0.52
N 2% |OLEG6 OLG6+AIr+6 10 0.33
; = |OLEGS OLG8+Air+8 9 0.29
%% ¥ |OLEBG OLB6+AIr+6 10 0.36
= |OLEBS OLG8+Air+8 9 0.33

o % |FIR6 SLE6+AIr+6 12 0.57
i BH  |EER6 DLE6+Air+6 15 0.46
= RS SLE8+Air+8 8 0.54
2 GRS DLES+AI+8 (8 040
5; %% |EE3RG6 SLEG6+AI+6 |3 0.39
g | B [EERGO DLEG8+Air+8 |10 0.33
BHIRGY SLEG 8+Air+8 |7 0.34

EESRGS DLEG8+Air+8 10 0.30

B |E3RB6 SLEB6+AIr+6 6 0.29

t |EE5REB6 DLEB8+AIr+8 |8 0.26
EESEBS SLEBS+Air+8 6 0.32

#HESRBS DLEB8+AIr+8 |8 0.25

CLHSEEE 1 BUERE TR %8 SC(Shading Coefficent)li& A R~ [E « SC & LA
3mm A IRE Ry R ARG T HAMAE RS > SCo kb n 1 AIDUMAH S &R 1.0 2KFrE
AN HREER © I 71 498 SC{ERY 0.88 fF -

2T g I 2 25 RECHE A R AR G R S AR 2 8 st R Re g
e ERERR A K o

3BT IR B 4G EE DU ATBAE . 10mm SRR EERIE >~ ni (RF > » BREEs PC
( ploycarbonte ) Z i JJ AR B 2= AR i HBR B a4 B 0 2 BE @ 20 10mm B EE 2
10+Air+10mm RESFE 2 71 (AHZ -

4 3PS RE AR EBE O PR 10+Air+10mm 2 B[R ZA By i s A 1 -

SRPRINZFE AR > RADRHIL ER PG Pt 2 e BB E Z

ﬂ

o L[ B ] B2
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® 2.2 HGHRBE
£ 2.2.1a BAE R TIPS 2 SR EL Ksihor (0<EFET Ww=0.7m)

JEIEEEl N [NNE | NE |ENE | E |ESE | SE |[SSE | S |[SSW | SW |WSW | W [WNW |NW NNW

0.05 0.96 | 0.96 | 0.96 | 095|095 | 0.95 | 0.95 | 094 | 094 | 0.94 | 0.95 | 0.95 | 0.95 | 0.95 | 0.96 | 0.96

0.1 0951094 1093 |093]|093|092]092]|091 091|091 |092|092]093]| 093|093 | 0.94

0.15 0931092109109 |09 | 089|088 | 0.87 087|087 |08 |08 |09 |09 |091] 091

0.2 091 | 0.89 | 0.88 | 0.87 | 0.87 | 0.86 | 0.84 | 0.83 | 0.84 | 0.83 | 0.85 | 0.86 | 0.87 | 0.87 | 0.88 | 0.89

0.25 09 (089|087 |085|085|084 |08 |08 |08 |08 |082]|084]085]0.85]0.87]0.88

0.3 09 088 |08 | 084|084 |082]08 |078(079|078|08 |082]0.84]0.84 ] 0.86 | 0.87

0.4 0.89 | 0.86 | 0.84 | 0.81 | 0.8 | 0.78 | 0.76 | 0.73 | 0.75 | 0.74 | 0.76 | 0.79 | 0.8 | 0.81 | 0.83 | 0.86

0.5 0.88 | 0.85 | 082|079 |0.78 | 0.76 | 0.73 | 0.7 | 0.71 | 0.7 | 0.73 | 0.76 | 0.78 | 0.79 | 0.81 | 0.85

0.6 0.88 | 0.85 | 0.81 | 0.78 | 0.76 | 0.74 | 0.71 | 0.67 | 0.68 | 0.68 | 0.71 | 0.74 | 0.76 | 0.77 | 0.8 | 0.84

0.7 0.87 | 0.84 | 0.8 | 0.76 | 0.74 | 0.72 | 0.68 | 0.65 | 0.65 | 0.65 | 0.68 | 0.71 | 0.74 | 0.76 | 0.79 | 0.83

0.8 0.87 | 0.84 | 0.79 | 0.75 |1 0.73 | 0.7 | 0.67 | 0.63 | 0.62 | 0.63 | 0.66 | 0.69 | 0.72 | 0.74 | 0.78 | 0.82

0.9 0.87 | 0.83 | 0.79 | 0.75 | 0.72 | 0.69 | 0.66 | 0.62 | 0.61 | 0.62 | 0.65 | 0.68 | 0.71 | 0.73 | 0.78 | 0.82

1.0 0.87 | 0.83 | 0.79 | 0.74 | 0.72 | 0.68 | 0.65 | 0.61 | 0.6 | 0.61 | 0.65 | 0.68 | 0.7 | 0.73 | 0.77 | 0.82

1.2 0.86 | 0.83 | 0.78 | 0.73 | 0.7 | 0.67 | 0.64 | 0.61 | 0.6 | 0.61 | 0.63 | 0.66 | 0.69 | 0.72 | 0.77 | 0.82

1.4 0.86 | 0.83 | 0.78 | 0.73 | 0.69 | 0.66 | 0.63 | 0.61 | 0.6 | 0.61 | 0.63 | 0.65 | 0.68 | 0.71 | 0.76 | 0.82

1.6 0.86 | 0.83 | 0.77 | 0.73 | 0.69 | 0.66 | 0.63 | 0.61 | 0.6 | 0.61 | 0.62 | 0.65 | 0.67 | 0.71 | 0.76 | 0.82

1.8 0.85 (082|077 | 0.72 | 0.68 | 0.65 | 0.63 | 0.61 | 0.6 | 0.6 | 0.62 | 0.64 | 0.66 | 0.7 | 0.75 | 0.81

2.0 0.84 | 0.81 | 0.76 | 0.71 | 0.67 | 0.64 | 0.62 | 0.61 | 0.6 | 0.6 | 0.61 | 0.63 | 0.66 | 0.69 | 0.75 | 0.8
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2 2.2.1b BEGEI TR IEES 7 L5 (A3 Ksihor (0.7m<E9% Ww=1.5m)

JEIEEEl N [NNE | NE |ENE | E |ESE | SE |[SSE | S |[SSW | SW |WSW | W [WNW |NW NNW

0.05 0.96 | 0.96 | 0.96 | 095|095 | 0.95 | 0.95 | 094 | 094 | 0.94 | 0.95 | 0.95 | 0.95 | 0.95 | 0.96 | 0.96

0.1 0941093 10921092092 1]09|091|09 |09 |09 |[091 091 092|092/ 0.92] 0.93

0.15 092091109 | 089|089 | 0.88 | 0.87|0.86|0.86 086|087 | 088|089 |08 |09 |09

0.2 0.89 | 0.87 | 0.86 | 0.85 | 0.85 | 0.84 | 0.82 | 0.81 | 0.82 | 0.81 | 0.83 | 0.84 | 0.85 | 0.85 | 0.86 | 0.87

0.25 0.87 | 0.86 | 0.84 | 0.82 | 0.82 | 0.81 | 0.79 | 0.77 | 0.78 | 0.77 | 0.79 | 0.81 | 0.82 | 0.82 | 0.84 | 0.85

0.3 0.86 | 084 | 082 |08 |08 |078]0.76|0.74]0.75]074 076|078 |08 |08 | 0.82]0.83

0.4 0.84 | 0.81 | 0.79 | 0.76 | 0.75 | 0.73 | 0.71 | 0.68 | 0.7 | 0.69 | 0.71 | 0.74 | 0.75 | 0.76 | 0.78 | 0.81

0.5 0.82 079|076 | 073|072 | 0.7 | 0.67 | 0.64 | 0.65 | 0.64 | 0.67 | 0.7 | 0.72 | 0.73 | 0.75 | 0.79

0.6 0.81 | 0.78 | 0.74 | 0.71 | 0.69 | 0.67 | 0.64 | 0.6 | 0.61 | 0.61 | 0.64 | 0.67 | 0.69 | 0.7 | 0.73 | 0.77

0.7 0.8 077|073 | 0.69 | 0.67 | 0.65 | 0.61 | 0.58 | 0.58 | 0.58 | 0.61 | 0.64 | 0.67 | 0.69 | 0.72 | 0.76

0.8 0.79 | 0.76 | 0.71 | 0.67 | 0.65 | 0.62 | 0.59 | 0.55 | 0.54 | 0.55 | 0.58 | 0.61 | 0.64 | 0.66 | 0.7 | 0.74

0.9 0.78 | 0.74 | 0.7 | 0.66 | 0.63 | 0.6 | 0.57 | 0.53 | 0.52 | 0.53 | 0.56 | 0.59 | 0.62 | 0.64 | 0.69 | 0.73

1.0 0.78 | 0.74 | 0.7 | 0.65 | 0.63 | 0.59 | 0.56 | 0.52 | 0.51 | 0.52 | 0.56 | 0.59 | 0.61 | 0.64 | 0.68 | 0.73

1.2 0.76 | 0.73 | 0.68 | 0.63 | 0.6 | 0.57 | 0.54 | 0.51 | 0.49 | 0.51 | 0.53 | 0.56 | 0.59 | 0.62 | 0.67 | 0.72

1.4 0.75 1072 | 0.67 | 0.62 | 0.58 | 0.55 | 0.52 | 0.5 | 049 | 049 | 0.52 | 0.54 | 0.57 | 0.6 | 0.65 | 0.71

1.6 0.75 1072 | 0.66 | 0.62 | 0.58 | 0.55 | 0.52 | 0.5 | 049 | 0.49 | 0.51 | 0.54 | 0.56 | 0.6 | 0.65 | 0.71

1.8 0.74 | 0.71 | 0.66 | 0.61 | 0.57 | 0.54 | 0.52 | 0.5 | 049 | 0.49 | 0.51 | 0.53 | 0.55 | 0.59 | 0.64 | 0.7

2.0 073 107 |065|06 |056]|053]051|05 [049 (049 |05 |0.52]0.55]0.58] 0.64 | 0.69
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% 2.2.1c BAEg[E /KPS 2 S5 (B Ksihor (1.5m<EIH Ww=2.5m)

JEIEEEl N [NNE | NE |ENE | E |ESE | SE |[SSE | S |[SSW | SW |WSW | W [WNW |NW NNW

0.05 0.96 | 0.96 | 0.96 | 095|095 | 0.95 | 0.95 | 094 | 094 | 0.94 | 0.95 | 0.95 | 0.95 | 0.95 | 0.96 | 0.96

0.1 093 1092|091 |1091]|09{09 |09 |08 |08 (08 |09 |09 |091| 091091 | 0.92

0.15 091 {09 | 089 | 088|088 | 0.87|0.86|0.85|085|085|086| 087|088/ 0.8 | 0.89 | 0.89

0.2 0.88 | 0.86 | 0.85 | 0.84 | 0.84 | 0.83 | 0.81 | 0.8 | 0.81 | 0.8 | 0.82 | 0.83 | 0.84 | 0.84 | 0.85 | 0.86

0.25 0.86 | 0.85 | 0.83 | 0.81 | 0.81 | 0.8 | 0.78 | 0.76 | 0.77 | 0.76 | 0.78 | 0.8 | 0.81 | 0.81 | 0.83 | 0.84

0.3 0.84 (082 |08 |078]|0.78|0.76 | 0.74 | 0.72 | 0.73 | 0.72 | 0.74 | 0.76 | 0.78 | 0.78 | 0.8 | 0.81

0.4 0.81 | 0.78 | 0.76 | 0.73 | 0.72 | 0.7 | 0.68 | 0.65 | 0.67 | 0.66 | 0.68 | 0.71 | 0.72 | 0.73 | 0.75 | 0.78

0.5 0.78 | 0.75 | 0.72 | 0.69 | 0.68 | 0.66 | 0.63 | 0.6 | 0.61 | 0.6 | 0.63 | 0.66 | 0.68 | 0.69 | 0.71 | 0.75

0.6 0.76 | 0.73 | 0.69 | 0.66 | 0.64 | 0.62 | 0.59 | 0.55 | 0.56 | 0.56 | 0.59 | 0.62 | 0.64 | 0.65 | 0.68 | 0.72

0.7 0.74 | 0.71 | 0.67 | 0.63 | 0.61 | 0.59 | 0.55 | 0.52 | 0.52 | 0.52 | 0.55 | 0.58 | 0.61 | 0.63 | 0.66 | 0.7

0.8 0.73 0.7 | 065|061 | 059|056 | 053|049 | 048 | 0.49 | 0.52 | 0.55 | 0.58 | 0.6 | 0.64 | 0.68

0.9 0.72 | 0.68 | 0.64 | 0.6 | 0.57 | 0.54 | 0.51 | 0.47 | 0.46 | 0.47 | 0.5 | 0.53 | 0.56 | 0.58 | 0.63 | 0.67

1.0 0.7 | 066 | 062|057 |055]051|048 | 044|043 | 044 | 048 | 0.51 | 0.53 | 0.56 | 0.6 | 0.65

1.2 0.68 | 065|106 | 055]052|049 | 046 | 043 | 041 | 043 | 0.45 | 0.48 | 0.51 | 0.54 | 0.59 | 0.64

1.4 0.67 | 0.64 | 059 | 054 | 05 | 047|044 | 042 |04 | 041|044 | 046 | 0.49 | 0.52 | 0.57 | 0.63

1.6 0.66 | 0.63 | 0.57 | 0.53 |1 049 | 046 | 043 | 041 | 0.4 | 0.41 | 0.42 | 0.45 | 047 | 0.51 | 0.56 | 0.62

1.8 0.64 | 0.61 | 0.56 | 0.51 | 0.47 | 044 | 042 | 04 | 039|039 | 0.41 | 043|045 | 049 | 0.54 | 0.6

2.0 063 06 |055|05 |046|043|041 |04 |[039(039|04 |042]045]| 048 | 0.54 | 0.59
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% 2.2.1d BE[EITUKPRES 2 5 (B Ksihor (2.5m<E( T Ww=7.5m)

JEIEEEl N [NNE | NE |ENE | E |ESE | SE |[SSE | S |[SSW | SW |WSW | W [WNW |NW NNW

0.05 0.96 | 0.96 | 0.96 | 095|095 | 0.95 | 0.95 | 094 | 094 | 0.94 | 0.95 | 0.95 | 0.95 | 0.95 | 0.96 | 0.96

0.1 093 1092|091 |1091]|09{09 |09 |08 |08 (08 |09 |09 |091| 091091 | 0.92

0.15 09 (089|088 | 087|087 |0.86| 085|084 084|084 | 085|086 ]| 087|087 0.88 | 0.88

0.2 0.87 | 085|084 | 083 |083]082 |08 |079]08 |079|081 |082)083]0.83]0.84] 0.85

0.25 085084 |08 |08 |08 |079]0.77|075]0.76 075|077 07908 |08 | 0.82]0.83

0.3 0.83 (081 |0.79 | 0.77 |1 077 | 0.75 | 0.73 | 0.71 | 0.72 | 0.71 | 0.73 | 0.75 | 0.77 | 0.77 | 0.79 | 0.8

0.4 0.79 | 0.76 | 0.74 | 0.71 | 0.7 | 0.68 | 0.66 | 0.63 | 0.65 | 0.64 | 0.66 | 0.69 | 0.7 | 0.71 | 0.73 | 0.76

0.5 0.76 | 0.73 | 0.7 | 0.67 | 0.66 | 0.64 | 0.61 | 0.58 | 0.59 | 0.58 | 0.61 | 0.64 | 0.66 | 0.67 | 0.69 | 0.73

0.6 0.73 0.7 | 0.66 | 0.63 | 0.61 | 0.59 | 0.56 | 0.52 | 0.53 | 0.53 | 0.56 | 0.59 | 0.61 | 0.62 | 0.65 | 0.69

0.7 0.7 | 067|063 |059]|057]|055]| 051|048 |048 | 048 | 0.51 | 0.54 | 0.57 | 0.59 | 0.62 | 0.66

0.8 0.69 | 0.66 | 0.61 | 0.57 | 0.55 | 0.52 | 0.49 | 0.45 | 0.44 | 0.45 | 0.48 | 0.51 | 0.54 | 0.56 | 0.6 | 0.64

0.9 0.67 | 0.63 | 0.59 | 055 0.52 | 049 | 046 | 042 | 0.41 | 0.42 | 0.45 | 0.48 | 0.51 | 0.53 | 0.58 | 0.62

1.0 0.65 | 0.61 | 057 | 05205 | 046|043 | 039 | 038|039 | 043 | 046 | 048 | 0.51 | 0.55 | 0.6

1.2 062 | 059 | 054 | 049 | 046 | 043 | 04 | 037 035|037 039|042 045| 048 | 0.53 | 0.58

1.4 06 |057|052|047 043 |04 | 037035033034 |037|039]|042]|045]|05 | 0.56

1.6 0.59 | 056 | 0.5 | 0.46 | 0.42 ] 0.39 | 0.36 | 0.34 | 0.33 | 0.34 | 035 | 0.38 | 0.4 | 0.44 | 0.49 | 0.55

1.8 0.57 | 0.54 | 0.49 | 0.44 | 0.4 | 037 | 035|033 ] 032|032 034|036 | 038|042 047 | 0.53

2.0 0.55 (052|047 | 042|038 | 035|033 032031031 |032|034|037]|04 | 046 0.51
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R 2.2.1e BIEG[E TRV IRES 2 57 (R B Ksihor (7.5m<E{ T Ww)

JEIEEEl N [NNE | NE |ENE | E |ESE | SE |[SSE | S |[SSW | SW |WSW | W [WNW |NW NNW

0.05 0.96 | 0.96 | 0.96 | 095|095 | 0.95 | 0.95 | 094 | 094 | 0.94 | 0.95 | 0.95 | 0.95 | 0.95 | 0.96 | 0.96

0.1 093 1092|091 |1091]|09{09 |09 |08 |08 (08 |09 |09 |091| 091091 | 0.92

0.15 09 (089|088 | 087|087 |0.86| 085|084 084|084 | 085|086 ]| 087|087 0.88 | 0.88

0.2 0.87 | 085|084 | 083 |083]082 |08 |079]08 |079|081 |082)083]0.83]0.84] 0.85

0.25 0.84 | 0.83 | 0.81 | 0.79 |1 0.79 | 0.78 | 0.76 | 0.74 | 0.75 | 0.74 | 0.76 | 0.78 | 0.79 | 0.79 | 0.81 | 0.82

0.3 082 (08 |078|076|076|0.74 | 07207 07107 |072|0.74]0.76 | 0.76 | 0.78 | 0.79

0.4 0.79 | 0.76 | 0.74 | 0.71 | 0.7 | 0.68 | 0.66 | 0.63 | 0.65 | 0.64 | 0.66 | 0.69 | 0.7 | 0.71 | 0.73 | 0.76

0.5 0.75 1072 | 0.69 | 0.66 | 0.65 | 0.63 | 0.6 | 0.57 | 0.58 | 0.57 | 0.6 | 0.63 | 0.65 | 0.66 | 0.68 | 0.72

0.6 0.72 | 0.69 | 0.65 | 0.62 | 0.6 | 0.58 | 0.55 | 0.51 | 0.52 | 0.52 | 0.55 | 0.58 | 0.6 | 0.61 | 0.64 | 0.68

0.7 0.69 | 0.66 | 0.62 | 0.58 | 0.56 | 0.54 | 0.5 | 0.47 | 0.47 | 047 | 0.5 | 0.53 | 0.56 | 0.58 | 0.61 | 0.65

0.8 0.67 | 0.64 | 0.59 | 055|053 |05 | 047 | 043 | 042 | 0.43 | 0.46 | 0.49 | 0.52 | 0.54 | 0.58 | 0.62

0.9 0.65 | 061 | 057 | 053|105 | 047|044 |04 |[039 |04 | 043 | 046|049 | 0.51 | 0.56 | 0.6

1.0 0.63 | 059 | 055|105 | 048|044 | 041 | 037 | 036|037 | 041 | 0.44 | 046 | 0.49 | 0.53 | 0.58

1.2 06 |057|052|047 044|041 | 038|035(033|035|037|04 |043]| 046 | 0.51 | 0.56

1.4 0.58 {05505 | 045] 041|038 035033031 |032|035|037]|04 |043]| 048 | 0.54

1.6 0.56 | 0.53 | 0.47 | 0.43 | 0.39 | 0.36 | 0.33 | 0.31 | 0.3 | 031 | 032 | 035 | 037 | 0.41 | 0.46 | 0.52

1.8 0.54 | 0.51 | 0.46 | 0.41 | 037 | 0.34 | 0.32 | 0.3 | 0.29 | 0.29 | 0.31 | 0.33 | 0.35 | 0.39 | 044 | 0.5

2.0 0.52 {049 | 044 |1 039]035|032]03 | 029028 028|029 |031]034]| 037|043 | 048
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% 2211 B8 _EED F/AKFER > (4% Ksihor (Ws=2.0xWw)

ZEFELE] N INNE | NE |ENE | E |ESE | SE |SSE S |SSW | SW [WSW | W [WNW|NW INNW
0.05 [0.96 [0.96 1096 [0.95 {0.95 |0.95 [0.95 [0.94 [0.94 {0.94 |0.95 [0.95 |0.95 [0.95 |0.96 |0.96
0.1 1093 {092 {091 091 {091 [0.90 [0.90 |0.89 |0.89 [0.89 [0.90 |0.90 {091 [0.91 [0.91 [0.92
0.15 {090 |0.89 |0.88 [0.87 |0.87 |0.86 [0.85 |0.84 [0.84 |0.84 |0.85 [0.86 |0.87 [0.87 |0.88 |0.88
0.2 [0.87 [0.85 [0.84 [0.83 [0.83 [0.82 [0.80 [0.79 |0.80 |0.79 |0.81 |0.82 |0.83 |0.83 [0.84 [0.85
025 10.84 10.83 10.81 |0.79 10.79 10.78 10.76 |10.74 |0.75 [0.74 {0.76 [0.78 [0.79 [0.79 |0.81 |0.82
03 [0.82 [0.80 [0.78 [0.76 [0.76 [0.74 [0.72 |0.70 |0.71 |0.70 |10.72 |1 0.74 |10.76 | 0.76 |{0.78 |0.79
04 [0.78 [0.75 [0.73 [0.70 [0.69 [0.67 [0.65 [0.62 |0.64 |0.63 |0.65 |0.68 |0.69 |0.70 [0.72 [0.75
0.5 [0.74 [0.71 [0.68 [0.65 [0.64 [0.62 [0.59 [0.56 |0.57 |0.56 |0.59 |0.62 |0.64 |0.65 [0.67 |[0.71
0.6 [0.71 [0.68 [0.64 [0.61 [0.59 [0.57 [0.54 |0.50 |0.51 |0.51 |0.54 1057 10.59 |0.60 [0.63 |0.67
0.7 10.68 |0.65 [0.61 |0.57 [0.55 [0.53 |0.49 [0.46 |0.46 |0.46 |0.49 |0.52 [0.55 |0.57 [0.60 |0.64
0.8 [0.66 [0.63 [0.58 |0.54 [0.52 [0.49 |0.46 [0.42 |0.41 [0.42 |0.45 |0.48 [0.51 {0.53 [0.57 |0.61
0.9 [0.64 [0.60 [0.56 |0.52 [0.49 |0.46 |0.43 [0.39 |0.38 [0.39 |0.42 [0.45 [0.48 |0.50 |[0.55 |0.59
1.0 10.62 |0.58 [0.54 {0.49 |0.47 [043 |0.40 [0.36 |0.35 |0.36 [0.40 |0.43 |0.45 |0.48 |0.52 |0.57
1.2 |0.58 |0.55 [0.50 {045 042 [0.39 [0.36 [0.33 {031 [0.33 [0.35 |0.38 [0.41 |0.44 |0.49 |0.54
14 10.56 |0.53 {048 {043 1039 [0.36 [0.33 [031 {0.29 |0.30 [0.33 |0.35 [0.38 |0.41 |0.46 |0.52
1.6 1054 [0.51 [045 1041 [0.37 {034 1031 {029 1028 1029 1030 |0.33 [0.35 [0.39 [0.44 |0.50
1.8 10.52 {049 [0.44 1039 |0.35 {032 {030 {0.28 |0.27 1027 1029 |0.31 |0.33 |0.37 {042 [0.48
2.0 [0.50 {047 [0.42 [0.37 [0.33 [0.30 [0.28 [0.27 {026 |0.26 |0.27 1029 |0.32 |0.35 {041 [0.46
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108.12.4 1080820114

7% 2.2.2a B[] e HE LR IS (R B Ksi,ver (0<gffE Hw=0.7m)

JRIEEE] N |[NNE | NE |ENE | E |ESE | SE [SSE | S |[SSW | SW |[WSW | W [WNW | NW |NNW

0.05 | 097 | 0.97 | 097 | 0.97 | 0.98 | 0.98 | 0.98 | 0.97 | 0.97 | 0.97 | 0.98 | 0.98 | 0.98 | 0.97 | 0.97 | 0.97

0.1 1093|092 |093|093 095|094 |094| 093|093 |093|094 | 095|095 093|093 | 0.92

0.15 1091 | 091|091 091|094 |093|093|091|091|091|093]|094]|094]|091 |09l | 09

0.2 |0.89|0.88|0.88 |08 |092]|092|091 |08 | 0.8 |08 |091|092]|092] 0.8 | 0.88 | 0.88

0.25 1 0.87 | 0.86 | 0.86 | 0.87 | 0.9 | 0.9 | 0.89 | 0.86 | 0.86 | 0.86 | 0.89 | 0.9 | 0.9 | 0.87 | 0.86 | 0.86

03 | 086|085 |0.85|08 |08 | 09 |0.88 | 085 |0.85| 085|088 | 09 |0.8 | 086 | 0.84 | 0.84

04 | 085|082 |0.82|083|0.87 |08 086|082 |0.82]|082|0.86| 088 |0.87|083|0.82]0.81

05 | 084 | 0.8 | 079|081 |0.85| 086 | 0.83|0.79 | 0.79 | 0.79 | 0.84 | 0.86 | 0.85 | 0.81 | 0.79 | 0.79

0.6 |083]079]0.78 | 0.8 | 084 |085|082]|0.78|0.77|0.78 | 0.82 | 0.85 | 0.84 | 0.79 | 0.77 | 0.78

0.7 |0.83]0.78]0.76 | 0.78 | 0.83 | 0.83 | 0.81 | 0.76 | 0.75 | 0.76 | 0.81 | 0.83 | 0.83 | 0.78 | 0.76 | 0.77

08 | 0821077075077 |082] 0821079075 |0.73|0.75|079 | 0.82]0.82]|0.76 | 0.75 | 0.76

09 |0821]077]|0.74|0.76 | 0.81 | 0.81 | 0.78 | 0.74 | 0.72 | 0.74 | 0.78 | 0.81 | 0.81 | 0.76 | 0.74 | 0.76

1.0 | 081|077 |0.72 | 0.75 | 0.79 | 0.8 | 0.77 | 0.72 | 0.71 | 0.73 | 0.77 | 0.79 | 0.79 | 0.75 | 0.72 | 0.76

1.2 | 081|076 | 072|074 | 0.79 | 0.78 | 0.76 | 0.71 | 0.7 | 0.71 | 0.76 | 0.77 | 0.79 | 0.73 | 0.71 | 0.75

14 | 0.8 | 076 | 0.71 | 0.72 | 0.77 | 0.76 | 0.75 | 0.69 | 0.68 | 0.7 | 0.75 | 0.75 | 0.78 | 0.72 | 0.7 | 0.75

1.6 1 0.79 | 0.76 | 0.71 | 0.71 | 0.76 | 0.74 | 0.73 | 0.68 | 0.67 | 0.68 | 0.73 | 0.73 | 0.76 | 0.71 | 0.7 | 0.75

1.8 1079 1076 | 0.71 | 0.71 | 0.75 | 0.73 | 0.72 | 0.68 | 0.67 | 0.68 | 0.72 | 0.72 | 0.75 | 0.71 | 0.7 | 0.75

20 1079 (0.75|071 | 0.7 | 075 |0.72 | 0.72 | 0.67 | 0.66 | 0.67 | 0.72 | 0.71 | 0.75 | 0.7 | 0.7 | 0.74
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%% 2.2.2b HAES[E] S HIER 2 G AE Ksi,ver (0.7m<E5E Hw=1.5m)

108.12.4

1080820114

YERELL N |NNE | NE |ENE | E |ESE | SE |SSE | S |SSW | SW [WSW| W [WNW |[NW [NNW
005 | 096 | 096 | 096 | 0.96 | 0.97 | 0.97 | 0.97 | 096 | 096 | 0.96 | 0.97 | 0.97 | 0.97 | 096 | 0.96 | 0.96
0.1 | 093 | 092 | 093 [ 093 | 095 | 0.94 | 0.94 | 0.93 [ 093 | 093 | 094 | 0.95 | 0.95 | 0.93 | 093 | 092
0.15 | 0.89 | 0.89 | 089 | 0.89 | 0.92 | 0.91 | 0.91 | 0.89 | 0.89 | 0.89 | 0.91 | 0.92 | 0.92 | 0.89 | 0.89 | 0.8
02 | 0.87 | 0.86 | 0.86 | 0.87 | 0.9 | 09 | 0.89 | 0.86 | 0.87 | 086 | 089 | 09 | 09 | 0.87 | 0.86 | 086
025 | 0.85 | 084 | 084 | 0.85 | 0.88 | 0.88 | 0.87 | 0.84 | 084 | 0.84 | 0.87 | 0.88 | 0.88 | 085 | 0.84 | 0.84
03 | 083 | 082 | 0.82 | 0.83 | 086 | 0.87 | 0.85 | 0.82 [ 0.82 | 082 | 085 | 0.87 | 0.86 | 0.83 | 0.81 | 081
04 | 08 | 077077 [078 | 082 ] 083|081 | 077 [ 077 | 077 | 081 | 0.83 | 0.82 | 0.78 | 0.77 | 076
05 | 079|075 | 074 [ 076 | 0.8 | 081 | 078 | 0.74 [ 074 | 074 | 079 | 0.81 | 08 | 0.76 | 0.74 | 0.74
06 | 076 | 072 | 071 [ 073 | 077 | 078 | 075 | 071 | 07 | 071 | 075 | 078 | 077 | 072 | 07 | 071
07 | 076 | 071 | 0.69 | 071 | 076 | 0.76 | 0.74 | 0.69 | 0.68 | 069 | 074 | 0.76 | 0.76 | 0.71 | 069 | 0.7
08 | 074 | 0.69 | 0.67 | 069 | 074 | 0.74 | 071 | 0.67 | 0.65 | 067 | 071 | 0.74 | 0.74 | 0.68 | 0.67 | 0.68
09 | 073 | 0.68 | 0.65 | 067 | 072 | 0.72 | 0.69 | 0.65 | 0.63 | 065 | 069 | 0.72 | 0.72 | 0.67 | 065 | 067
10 | 072 068 | 0.64 | 0.67 [ 071 | 072 | 069 | 0.64 | 0.63 | 0.65 | 0.69 | 071 | 071 | 0.67 | 0.64 | 0.67
12 1072 067|063 | 065] 07 | 069|067 062|061 | 062|067 |068| 07 | 0.64 | 0.62 | 0.66
14 | 07 | 066|060 | 0.62 | 067|066 065|059 | 058 06 |065|065]| 068|062 | 06 |065
16 | 069 | 0.65| 06 | 0.61 [ 0.66 | 064 | 063 | 0.58 | 0.57 [ 058 | 0.63 | 063 | 0.66 | 0.61 | 0.59 | 0.64
18 | 069 | 065 | 0.6 | 0.61 | 0.65 | 0.63 | 062 | 058 | 0.57 | 0.58 | 0.62 | 0.62 | 065 | 0.61 | 0.59 | 0.64
20 | 068 | 0.64 | 06 | 059 | 064 | 0.61 | 0.61 | 0.56 | 055 | 056 | 0.61 | 06 | 0.64 | 059 | 059 | 0.63
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7% 2.2.2¢ HAES[E] =5 H S 2 {48 Ksi,ver (1.5m<& = Hw=2.5m)

108.12.4

1080820114

YEFELEl N |NNE | NE |ENE | E |ESE | SE |[SSE | S [SSW [ SW |[WSW | W [WNW|NW [NNW
0.05 | 0.96 | 0.96 | 0.96 | 0.96 | 0.97 | 0.97 | 0.97 | 0.96 | 0.96 | 0.96 | 0.97 | 0.97 | 0.97 | 0.96 | 0.96 | 0.96
0.1 | 092|091 | 092 092|094 093093092092 092|095 | 094|094 |092]|092] 091
0.15 | 0.89 | 0.89 | 0.89 | 0.89 | 0.92 | 0.91 | 0.91 | 0.89 | 0.89 | 0.89 | 0.91 | 0.92 | 0.92 | 0.89 | 0.89 | 0.88
0.2 | 086 | 085 | 085|086 | 0.89 | 0.89 | 0.88 | 0.85 | 0.86 | 0.85 | 0.88 | 0.89 | 0.89 | 0.86 | 0.85 | 0.85
0.25 | 0.83 | 0.82 | 0.82 | 0.83 | 0.86 | 0.86 | 0.85 | 0.82 | 0.82 | 0.82 | 0.85 | 0.86 | 0.86 | 0.83 | 0.82 | 0.82
03 | 08 [079|079| 08 | 083|084 |082[079|079] 079|082 ]084|08 | 08 | 078|078
04 077 074|074 [ 075]079 | 08 | 078 | 074|074 | 074 | 0.78 | 0.8 | 0.79 | 0.75 | 0.74 | 0.73
05 (075|071 07 | 072]076|077 074 | 07 | 07 | 07 |075]| 077|076 |072| 07 | 07
06 | 072|068 | 067 | 069 | 073|074 | 071 | 0.67 | 0.66 | 0.67 | 0.71 | 0.74 | 0.73 | 0.68 | 0.66 | 0.67
0.7 | 07 | 065]063]065] 07 | 07 | 068063062063 068 07 | 07 |065] 063 | 0.64
0.8 | 0.68 | 0.63 | 0.61 | 0.63 | 0.68 | 0.68 | 0.65 | 0.61 | 0.59 | 0.61 | 0.65 | 0.68 | 0.68 | 0.62 | 0.61 | 0.62
0.9 | 066 | 061 | 058 | 0.6 | 065|065 | 062|058 | 0.56 | 058 | 0.62 | 0.65 | 0.65| 0.6 | 058 | 0.6
1.0 | 0.64 | 0.61 | 0.56 | 0.59 | 0.63 | 0.64 | 0.61 | 0.56 | 0.55 | 0.57 | 0.61 | 0.63 | 0.63 | 0.59 | 0.56 | 0.6
12 063|058 | 054 | 056 | 0.61 | 0.6 | 058 | 0.53 | 0.52 | 0.53 | 0.58 | 0.59 | 0.61 | 0.55 | 0.53 | 0.57
14 061 | 057|052 053|058 | 057|056 05 | 049|051 | 056|056 | 059 | 053|051 | 056
16 | 06 | 056 | 051 | 052|057 | 055054049 | 048 | 049 | 0.54 | 0.54 | 057 | 052 | 0.5 | 0.55
1.8 | 058|055 | 05 | 05 0541052051047 | 046 | 047 | 051 | 0.51 ] 054 | 05 | 049 | 0.54
20 [ 058|054 05 | 049 | 0.54 | 0.51 | 051 | 0.46 | 045 | 046 | 0.51 | 0.5 | 0.54 | 0.49 | 0.49 | 0.53
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% 2.2.2d BB [E] S HIER 2 EGAE Ksi,ver (2.5m<&5E HW=7.5m)

108.12.4

1080820114

YERELL N |NNE | NE [ENE | E |ESE | SE |SSE | S |SSW |SW [WSW| W [WNW [ NW |[NNW
005 | 096 | 096 | 096 | 0.96 | 0.97 | 0.97 | 0.97 | 096 | 096 | 0.96 | 0.97 | 0.97 | 097 | 096 | 0.96 | 0.96
0.1 | 092 | 091 | 092 [ 092 | 094 | 093 | 093 | 0.92 [ 092 | 092 | 093 | 0.94 | 0.94 | 0.92 | 092 | 091
015 | 0.88 | 088 | 088 | 0.88 | 091 | 09 | 09 | 088 | 088 | 0.88 | 09 | 0.91 | 091 | 088 | 0.88 | 0.87
02 | 0.85 | 0.84 | 0.84 | 0.85 | 088 | 0.88 | 0.87 | 0.84 | 0.85 | 084 | 087 | 0.88 | 0.88 | 0.85 | 0.84 | 0.84
025 [ 0.83 | 082 | 082 | 0.83 | 0.86 | 0.86 | 0.85 | 082 | 082 | 0.82 | 0.85 | 0.86 | 0.86 | 083 | 082 | 0.82
03 | 08 | 079|079 | 0.8 | 083 | 084|082 ]079[079 | 079 | 082 | 084|083 | 08 | 078 | 078
04 | 076|073 | 073 [ 074 | 078 | 079 | 077 | 073 [ 073 | 073 | 077 | 09 | 0.78 | 0.74 | 0.73 | 0.72
05 | 073 | 0.69 | 0.68 | 07 | 074 | 075 | 072 | 0.68 | 0.68 | 068 | 073 | 075 | 0.74 | 07 | 0.68 | 0.68
06 | 07 | 0.66 | 0.65 | 067 | 071 | 072 | 0.69 | 0.65 | 0.64 | 065 | 069 | 0.72 | 0.71 | 0.6 | 0.64 | 0.65
07 | 0.68 | 0.63 | 0.61 | 063 | 068 | 0.68 | 0.66 | 0.61 | 0.6 | 061 | 066 | 0.68 | 0.68 | 0.63 | 0.61 | 0.62
08 | 0.65| 06 | 058 | 0.6 | 065 | 0.65| 0.62 | 0.58 | 056 | 058 | 062 | 0.65 | 0.65 | 0.59 | 0.58 | 0.59
09 | 063 | 0.58 | 055 | 057 | 062 | 062 | 0.59 | 0.55 | 053 | 055 | 059 | 0.62 | 0.62 | 057 | 055 | 057
10 [ 061|058 ]053]056] 06 061|058 053052054058 06 | 06 | 056|053 | 057
12 [ 059|054 05 | 052|057 | 056|054 049 | 048 | 049 | 0.54 | 055 | 057 | 051 | 049 | 0.53
14 057|053 ] 048 | 049 | 0.54 | 053 | 052 | 046 | 0.45 | 047 | 052 | 052 | 055 | 0.49 | 0.47 | 052
16 055|051 | 046 | 047 | 052 | 0.5 | 049 | 044 | 043 | 0.44 | 0.49 | 049 | 052 | 047 | 045 | 05
18 [ 053 | 0.5 | 045 | 045 | 0.49 | 047 | 046 | 042 | 0.41 | 0.42 | 0.46 | 0.46 | 049 | 0.45 | 0.44 | 0.49
20 | 053 | 049 | 0.4 | 044 | 049 | 046 | 0.46 | 0.41 | 04 | 041 | 046 | 045 | 049 | 0.4 | 043 | 048
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108.124 1080820114
= 2.2.2¢ HARS[E] = I H AL 2 558 Ksi,ver (7.5m<&g5 Hw)

Yl N |NNE | NE |ENE | E |ESE | SE [SSE | S |SSW | SW |[WSW | W [WNW |NW [NNW
0.05 | 0.96 | 0.96 | 0.96 | 0.96 | 0.97 | 0.97 | 0.97 | 0.96 | 0.96 | 0.96 | 0.97 | 0.97 | 0.97 | 0.96 | 0.96 | 0.96
0.1 | 092|091 | 092092094 |093]093]|092]092]092| 093|094 094|092 092 ] 091
0.15 | 0.88 | 0.88 | 0.88 | 0.88 | 0.91 | 0.9 | 09 | 0.88 | 0.88 | 0.88 | 0.9 | 091 | 0.91 | 0.88 | 0.88 | 0.87
0.2 | 085|084 | 0.84 | 0.85 | 0.88 | 0.88 | 0.87 | 0.84 | 0.85 | 0.84 | 0.87 | 0.88 | 0.88 | 0.85 | 0.84 | 0.84
0.25 | 0.82 | 0.81 | 0.81 | 0.82 | 0.85 | 0.85 | 0.84 | 0.81 | 0.81 | 0.81 | 0.84 | 0.85 | 0.85 | 0.82 | 0.81 | 0.81
03 1079078 | 078 | 0.79 | 0.82 | 0.83 | 0.81 | 0.78 | 0.78 | 0.78 | 0.81 | 0.83 | 0.82 | 0.79 | 0.77 | 0.77
04 075072072073 ]077 078|076 |072|072 072|076 | 078|077 | 073 | 0.72 | 0.71
05 [ 072|068 | 067 | 0.69 | 0.73 | 0.74 | 0.71 | 0.67 | 0.67 | 0.67 | 0.72 | 0.74 | 0.73 | 0.69 | 0.67 | 0.67
06 | 0.69 | 065|064 | 0.66| 0.7 | 071 | 0.68 | 0.64 | 0.63 | 0.64 | 0.68 | 0.71 | 0.7 | 0.65 | 0.63 | 0.64
0.7 [ 067|062 06 |062]067]067|065] 06 |05 | 06 |065]067]067|062] 06 | 061
0.8 | 0.64 | 059 | 0.57 | 0.59 | 0.64 | 0.64 | 0.61 | 0.57 | 0.55 | 0.57 | 0.61 | 0.64 | 0.64 | 0.58 | 0.57 | 0.58
0.9 | 062|057 | 054 056|061 |06 | 058|054 |05 | 054|058 | 061 | 061 | 0.56 | 0.54 | 0.56
10 [ 0.59 | 056 | 0.51 | 054 | 058 | 0.59 | 0.56 | 0.51 | 0.5 | 0.52 | 0.56 | 0.58 | 0.58 | 0.54 | 0.51 | 0.55
12 1057 | 052|048 | 05 | 055|054 | 052|047 | 046 | 047 | 0.52 | 0.53 | 055 | 049 | 047 | 0.51
14 054 | 05 | 045|046 | 051 | 0.5 | 049 | 043 | 042 | 0.44 | 0.49 | 0.49 | 052 | 046 | 0.44 | 0.49
1.6 | 0.53 | 049 | 0.44 | 045 | 0.5 | 048 | 047 | 042 | 041 | 0.42 | 047 | 047 | 05 | 045 | 043 | 048
1.8 | 051 [ 048 | 042 | 043 | 047 | 045 | 044 | 04 | 039 | 04 | 044 | 044 | 047 | 043 | 041 | 047
20 | 05 | 046 | 042 | 041 | 046 | 043 | 043 | 0.38 | 0.37 | 0.38 | 0.43 | 042 | 046 | 0.41 | 0.41 | 0.45
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108.12.4 1080820114

% 2.2.2f g R EEE IR 2 5 A E Ksi,ver (Hs=2.0xHw )

ZEEEE] N| NNE| NE| ENE| E | ESE| SE| SSE| S | SSW| SW| WSW| W | WNW| NW| NNW|
0.05 10.96 [0.96 [0.96 {0.96 |0.97 [0.97 [0.97 {0.96 |0.96 [0.96 [0.97 | 0.97 [0.97 | 0.96 |0.96 | 0.96

0.1 092 {091 1092 {0.92 [0.94 [0.93 |0.93 10.92 10.92 [0.92 |0.93 | 0.94 [0.94 | 0.92 |0.92 | 0.91

0.15 |0.88 [0.88 |0.88 |{0.88 {0.91 [0.90 [0.90 |0.88 {0.88 | 0.88 [0.90 | 0.91 [0.91 | 0.88 |0.88 | 0.87
0.2 0.85(0.84 |0.84 |0.85 [0.88 [0.88 |0.87 |0.84 |0.85 [0.84 |0.87 | 0.88 [0.88 | 0.85 |0.84 | 0.84

0.25 |0.820.81 |0.81 |0.82 |0.85 [0.85 |0.84 |0.81 |0.81 [0.81 |0.84 | 0.85 [0.85 | 0.82 |0.81 | 0.81

0.3 10.79 {0.78 |0.78 |0.79 ]0.82 |0.83 |0.81 |0.78 {0.78 {0.78 |0.81 | 0.83 [0.82 | 0.79 |0.77 | 0.77
0.4 10.7510.72 10.72 |0.73 10.77 |0.78 |0.76 10.72 10.72 {0.72 |0.76 | 0.78 [0.77 | 0.73 {0.72 | 0.71

0.5 10.72 {0.68 |0.67 |0.69 [0.73 |0.74 |0.71 |0.67 |0.67 [0.67 |0.72 | 0.74 |0.73 | 0.69 |0.67 | 0.67
0.6 10.68 | 0.64 [0.63 |0.65 |0.69 [0.70 [0.67 {0.63 |0.62 [0.63 [0.67 | 0.70 [0.69 | 0.64 |0.62 | 0.63
0.7 10.66 | 0.61 [0.59 |0.61 |0.66 [0.66 [0.64 {0.59 |0.58 [0.59 [0.64 | 0.66 [0.66 | 0.61 |0.59 | 0.60
0.8 10.63 [0.58 [0.56 {0.58 10.63 [0.63 [0.60 {0.56 |0.54 [0.56 [0.60 | 0.63 [0.63 | 0.57 ]0.56 | 0.57
0.9 10.61 [0.56 [0.53 {0.55 |0.60 [0.60 [0.57 {0.53 |0.51 [0.53 [0.57 | 0.60 [0.60 | 0.55 [0.53 | 0.55
1.0 ]0.58 10.55 [0.50 {0.53 10.57 [0.58 [0.55 {0.50 |0.49 [0.51 [0.55 | 0.57 [0.57 | 0.53 |0.50 | 0.54
1.2 10.56 | 0.51 [0.47 {049 10.54 [0.53 0.51 |0.46 |0.45 [0.46 [0.51 | 0.52 [0.54 | 0.48 |0.46 | 0.50

1.4 ]0.53 {049 |0.44 |0.45 [0.50 [0.49 |0.48 {0.42 |0.41 [0.43 |0.48 | 0.48 [0.51 | 0.45 |0.43 | 0.48
1.6 |0.51 {047 |0.42 |0.43 10.48 [0.46 |0.45 [0.40 10.39 [0.40 |0.45 | 0.45 [0.48 | 0.43 10.41 | 0.46
1.8 10.49 [0.46 |0.40 |0.41 [0.45 |0.43 |0.42 {0.38 [0.37 {0.38 |0.42 | 0.42 [0.45 | 0.41 ]0.39 | 0.45
20 10481044 10.40 [0.39 [0.44 |0.41 |0.41 |0.36 [0.35 [0.36 |0.41 | 0.40 |0.44 | 039 10.39 | 043
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108.12.4 1080820114

%E 2.2.3 )Fg% ‘IZ Z ~[§ 1,/\ QKSl,grld

VEEEE] N | NNE| NE | ENE| E | ESE| SE | SSE S | SSW | SW | WSW | W | WNW| NW | NNW

005 [093 | 092 [092 [092 [092 |092 |091 |09 |09 | 090 |091 | 092 092 | 092 |092 | 092

01 1087 |08 |085 |084 |085 |0.84 |08 |08l [082 |08l |08 | 084 |0.85 | 0.84 | 0.85 | 0.85

0.15 {082 | 080 [0.79 [0.78 |0.78 | 0.78 | 0.76 | 0.74 | 0.74 | 0.74 | 0.76 | 0.78 | 0.79 | 0.78 | 0.79 | 0.80

02 1078 | 075 {074 {072 1073 [ 072|070 |0.67 | 068 067 |070 | 0.72 073 | 0.72 [0.73 | 0.75

025 | 074 | 071 | 0.69 | 0.67 | 0.68 | 0.66 |0.64 | 0.61 |0.62 | 061 |0.64 | 0.66 |0.68 | 0.67 |0.68 | 0.71

0.3 1070 | 0.68 | 0.65 [0.63 |063 |0.62 |05 [056 |056 056 |05 | 062 |063 | 063 |0.64 | 0.67

04 ]0.65 |062 | 058 | 056 | 055 | 054|051 | 047 | 047 | 047 | 051 | 0.54 [055 | 056 | 057 | 0.61

0.5 [0.60 | 057 | 053 {050 |049 | 047 | 044 | 040 | 039 | 041 | 044 | 047 |049 | 050 |052 | 0.56

0.6 057 | 053 | 049 | 046 | 045 | 042 | 039 [ 035 | 034 [ 035 |039 | 042 |044 | 045 | 048 | 0.52

0.7 1054 | 050 | 046 | 042 | 041 | 038 | 035 | 031 {030 | 031 | 035 | 038 |040 | 041 | 045 | 049

08 051 | 048 | 043 | 040 | 037 | 035 032 [029 [027 | 028 | 032 | 034 |036 | 038 | 042 | 0.47

09 1049 | 045 | 041 | 037 |035 {032 030 [ 027 [025 | 026 | 029 | 032 |0.34 | 0.36 | 040 | 0.45

1.0 |1 047 | 044 1039 |035 1033 {030 |{028 [ 025 [024 | 025 |027 | 029 | 032 | 0.34 |0.38 | 0.43

12 1044 | 041 | 037 1032|030 {027 {025 [ 023 [023 | 023 [025 | 026 |029 | 031 |0.35 | 0.40

14 1042 | 039 1034 1030 |028 {025 {023 [022 [021 |021 |023 | 024 |026 | 029 |0.33 | 0.38

1.6 | 040 | 037 1033 | 029 [026 | 024 |022 {021 |020 | 020 |021 | 023 |025 | 027 |0.32 | 0.37

1.8 1039 | 036 | 032 {027 {025 {022 |02l {020 |020 | 019 |020 | 021 |[024 | 026 |0.31 | 0.35

20 1038 | 035 {031 {027 | 024 [022 |020 {019 |0.19 [ 019 |020 | 021 |023 | 026 |030 | 0.34

et

X1 s ~
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X2 =4 £ =5h U =N
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% 2.2.4 HREROEREN K FEGEES BRENZEEIMNERS ZESH
BELE (ZT9EA)

IKPERS Z B ABIEIER AKsin

ﬁEﬁ%Zﬁ%ﬁ%ﬁﬂ%Ei AKSi,ver

FELE | HE K| E H|IE H|E H = = = &' o=
0<Ww =<| 0.7<Ww | L.5<Ww | 25<Ww | 7.5<Ww | O<Hw = | 0.7<Hw | 1L.5<Hw | 2.5<Hw | 7.5<Hw
0.7m =1.5m =2.5m =7.5m 0.7m =15m =2.5m =7.5m

0 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

0.05 0.00 0.00 0.00 0.00 0.00 0.01 0.00 0.00 0.00 0.00

0.1 0.02 0.01 0.00 0.00 0.00 0.01 0.01 0.00 0.00 0.00

0.15 0.03 0.02 0.01 0.00 0.00 0.03 0.01 0.01 0.00 0.00

0.2 0.04 0.02 0.01 0.00 0.00 0.04 0.02 0.01 0.00 0.00

0.25 0.06 0.03 0.02 0.01 0.00 0.05 0.03 0.01 0.01 0.00

0.3 0.08 0.04 0.02 0.01 0.00 0.07 0.04 0.01 0.01 0.00

0.4 0.11 0.06 0.03 0.01 0.01 0.10 0.05 0.02 0.01 0.00

0.5 0.14 0.08 0.04 0.02 0.01 0.12 0.07 0.03 0.01 0.00

0.6 0.17 0.10 0.05 0.02 0.01 0.15 0.08 0.04 0.02 0.01

0.7 0.19 0.12 0.06 0.02 0.01 0.17 0.10 0.04 0.02 0.01

0.8 0.21 0.13 0.07 0.03 0.01 0.19 0.11 0.05 0.02 0.01

0.9 0.23 0.14 0.08 0.03 0.01 0.21 0.12 0.05 0.02 0.01

1.0 0.25 0.16 0.08 0.03 0.01 0.22 0.14 0.06 0.03 0.01

12 0.28 0.18 0.10 0.04 0.02 0.25 0.16 0.07 0.03 0.01

14 0.30 0.19 0.11 0.04 0.02 0.27 0.17 0.08 0.04 0.01

16 0.32 0.21 0.12 0.05 0.02 0.28 0.18 0.09 0.04 0.02

1.8 0.33 0.22 0.12 0.05 0.02 0.30 0.20 0.09 0.04 0.02

2.0 0.34 0.23 0.13 0.05 0.02 0.31 0.20 0.10 0.05 0.02

5 BIEARBIEKZER R 2.3 Z(Ww/Ws) » R EER &R 2.4 2 (Hw/Hs)
KRS © B IE 18 Ksine =38 221 BEY Ksiw +HBIEE AKsin xEIEAB(WW/WS)?
EEER | BIE% Ksio=% 2220 FZ Ksiw I BIER AKsioxEIEAEHw/Hs)
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R 2.2.5 ACBREYEES BB Kbi

MR | N |NNE| NE |ENE| E |ESE | SE |SSE| S |[SSW | SW |WSW| W |WNW| NW |NNW
<001 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
005 | 004 | 004 [ 004 | 0.05 | 0.05 | 0.05 | 0.05 | 0.06 | 0.06 | 0.06 | 0.05 | 0.05 | 0.05 | 0.05 | 0.04 | 0.04
01 | 007 | 008|009 |009|009 |010|010 | 011 | 0.11 | 0.11 | 0.10 | 0.10 | 0.09 | 0.09 | 0.09 | 0.08
015 | 010 [ 011 [0.12 [ 0.13 | 0.13 | 0.14 | 0.15 | 0.16 | 0.16 | 0.16 | 0.15 | 0.14 | 0.13 | 0.13 | 0.12 | 0.12
02 | 013|015 ]016 | 0.17 | 0.17 | 0.18 | 020 | 0.21 | 020 | 021 | 0.19 | 0.18 | 0.17 | 0.17 | 0.16 | 0.15
025 | 016 | 017 [ 0.19 | 021 | 021 | 022 | 024 | 026 | 025 | 026 | 024 | 022 | 021 | 021 | 0.19 | 0.18
03 | 018|020 |022|024|024 026|028 | 030|029 030|028 | 026 | 024 | 024 | 022 | 021
04 | 022|025 |027 030|031 033|035 | 038|036 |037 | 035 | 032 | 031 | 0.30 | 028 | 0.25
0.5 | 026|029 | 032|035 | 036|038 | 041 | 044 | 043 | 044 | 041 | 038 | 036 | 0.35 | 033 | 0.29
06 | 029 | 032|036 | 039 | 041 | 043 | 046 | 0.50 | 0.49 | 049 | 046 | 0.43 | 041 | 040 | 037 | 0.33
07 | 032035039 | 043 | 045 | 047 | 051 | 0.64 | 0.54 | 053 | 0.51 | 0.48 | 045 | 043 | 0.40 | 0.35
08 | 034|037 |042|046 | 048 [ 051 | 0.54 | 0.68 | 0.69 | 0.68 | 0.55 | 0.52 | 049 | 0.47 | 0.43 | 0.39
09 | 036|040 | 044 | 048 | 051 | 0.54 | 057 | 0.69 | 0.70 | 0.68 | 0.60 | 0.5 | 0.52 | 0.50 | 0.45 | 0.41
10 [03% | 042 | 046 | 051 | 053 | 0.57 | 0.60 | 0.69 | 0.70 | 0.69 | 0.60 | 0.60 | 0.55 | 0.55 | 048 | 0.43
12 |042 |045 |050 |055 |058 |059 064 [0.70 |071 069 [0.65 |062 059 [0.56 |0.51 |0.46
14 |044 |047 |052 |057 |06l |064 067 [070 |071 070 067 |0.65 [0.62 |059 |0.54 |0.48
16 046 049 |055 059 |0.63 |0.66 [0.69 |071 |072 [071 |070 |0.67 |065 |060 |056 |0.50
18 048 |051 |056 |061 |065 |0.68 [070 |072 |073 [0.73 |071 |0.69 |0.67 |063 |058 |052
20 [050 |053 |058 |063 |067 |070 082 [0.73 |074 074 [0.73 |071 |0.68 [065 |0.59 |0.54

FREBRETEUTENERMWA DAH ZER R " EERERE , 2 BB GRE 0 77 UFE
REE TMY3 ZRHFNTE BRI EZ BER ARG HBIRE 1.0 BER 2.2.1 ZEEBHEE (X
RZERMAHERF 221 Z2EEL) - B "REEERE ) FERR 2K - BEEBE
B/ NRUEREE  HERE=ENMELZ
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